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ATA®OPIKH TEQMETPIA.—Zaigoxevroiral youupal diagpdowv taEemv do-
Velong xapmwiding, tnd Neidov Zaneldagiov. *Avexowddn ©xd tod
%. Baoul. Alywijrov.

1. "Eoto (y) ®aunidln eig tov Eddeideiov ydoov (x,, X,, X,) tdfewg C*! ué

dravue v 85 =x{s), 8 i 0 wijrog T68 vtils (ue-
uatuy &lowoy X =x(s), dmov s magiotdver 10 pijxog t6fov uvtiic (ne

Teovuevoy Gmd tivog onueiov ™), ut axriva xaumvidtnrogs p(s)=x%"1(s) 9 = (s)
=p~" (s) N xapumvdding adriic ue oreéyrv o (s)=r1 "' (s) %0 &ic ©d onueiov av-
s M (x(s)), &v@ elvar % (s)=/x(s)/ >0, tob ovuPblov * magiordvovros To
4 /as. “H %(s) el ovveyrd nagdyoyov tdfews C? xai i o(s) tdtewg C'. "Av
Xi (i= 1, 2, 3) xwagiordvovy ta povadiaia Svavisuara 8xi tiis Epamtouévng, &nl
tig o wal B xadérov eddeiog iz (v) ez 10 M (cuvictdvra Seiboroogov tole-
doov), da elvar
N5, X =—ut. x(S) K o=aX X (1)
10V cvpufélov X maQLeTdvOVTOS SLavuopaTIXdV YLVOUEVOY.
2. "Av avti 0¥ to1édgov tdv X; (tod Frenet) Seworjowuey to tdv Xi, Sua
10 6motov elvar X, = X,, ta 8¢ X,, X, mooximrovy Sud otoopiic tdv X,, X, meol
10 M xal 8nl to¥ dmmédov X, X, tiig (y) elc t0 M nara yoviay Eoto ¢, da eivau
X, —X%,
X, = X;ouve -+ Xynue 2)
X,=—X;nue+X;ouvg
gv@ Eyouev
e ="°[;, owvep="P[5 = k(o1)/r, o= oT/kipv),
ol k maoistrdvovrog dorduov (moaypmarizov) 5= 0,
r = (MP) = [p*+(kpr)]'”,

S

dv P elvar 7 toun tod dEovog xaumnvidtnrog thg (v) €l to M Um0 tiic eddelag

o Xy,
p = (MK),

dv K elvar 7 topn tod 8v Adyw dEovog xaumuldtnrog 1m0 tijs eddelug tol X,,
kKp=k. KP, =k, (pr).X,,

dmov P, maoiotdver 1O #évroov tiig Eyyvrdmng ogaloas elg 1o M tiig (y) »al K

70 #évioov xapmvAdtmrog i 0 M adric.



SYNEAPIA THZ 10 IOYNIOY 1954 381

Ot dvricrotyor t@v tUnwv tod Frenet Sia td toledoov tav Xi, dv tedi

=718 4r8 9o &,

6mov T =T _[“ ( p/r_').' I/cu'vcp
s S B (3)

Hagarnontéov Gue duak—> 2, Eouev r —> o0, > 0, nue =0, sup—>1, p—>p,
r —>1, of 8¢ timot (2) toémovrar elg tovs nhacixovs OO TO Fvopa THmOL TOD
Frenet dua thyv (y).

3. To »évroov tiic dyyvrding cgaioag tiis () eic to M diderar md Tob
xV =x(s)+ p(s). Xy(s) + (p(s)e(s)). X, (4)

6 8¢ témog tob téhovg Tob daviouarog XM elvar &v yéver xammiodn (Y1) = (y
(7)), meorootlopév €ig &v omueiov, Stav 1 (y) eivar téCov nurhutdv.

"Av ted] p/t+(pt) =0(s), (Smoredij 8¢ 9=£0),
o elvar o Hs) takg C' nal
xW7'=0(s).Xy(s), x'= dx'V/gs,

*Av s maototdvy tO wijxog tékov tig (yY), X(il) 0 povadiaio diaviouara
t0? (8eEtootobpov) Totédov tod Fenet tiic (yV) els 10 onueiov adriic M™ Gvri-
otoov ot M tiig (), ', t xhn. tdg dxrivag xaumvdémros, otoépewg xhm.
tiic (vV) eig 1o MY, da Eyxwuev

x V==0xD[gg==X1)

(dsV)=9(s).*(ds)?, s(”-—:f(p.c—l—( pls)") ds}c (otad.)
#Hrow ©o s elvar ouvdotnotg ol s, dote sV=s)s), doa xal s=s (s'").
Edotoxouey dxM/asm=X,(s), (x1)=1,
XP (=X (6= ), -

doa to x elvar tdkewg C' (Ds 10 X), 10 88 xV wdfews C2.

Awa ta X, X eboionopev

30 = —0 [§'X,
%) =+ (sV) [9(sV), (bmotiderar »HV>0)
X(PW=+X,,

Smov 1o 1 elvan 10 adtd wé td modonuov tot —a/d,
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X=X XXP=X, X (£X )= —(+X.),
feos X=X,  XP=+X,  X}=TX, 5)
o= |Xi X,X, |,
el= X(ll)X(gl) X(zl) |,

oM=y. 91 | RAil==Ng = (6).

c

4. Ava v oagoxevrouny xaumvdny (y?) rdEews C* tiig (y(), tmodérovres

C® v tdEw tiig (v), edotorouey

X2= £ X, XP—+X,, X@— T X,, (7)

o s oK) 4 < & ~ T
A vy Engoaciy Tdv XiJ &v véver tic opatooxrevToiniis ths (y) %al j tdtewe,

Gre Va dmotedq Grv 1 (y) elvar wdfewg CiT2 | Géromey

f(J).—_:TU)—l_X(lJ +P(J)*1.X(33)
cr 3 <« (i . (i ':’.'-,'”
Gte Egouev X(i‘l):f(J)XXiJ)’ T f, Z, 3 )-

Ty o & =5 g ~ s / A c
5. dua iy eboeowy tiv X7 tiic (YY) cpavooxevrowniis j tdfews tig (y), ds
mods (deEidorooqov) dodoydviov olstnua toédoov, #Fyovrog duuds o X=X
&nl tiig pantopévng tiis (Y9) nal tas Yo dMhag X, XY mooxvmrovsag x tév
X0, X0 tiig (y9) el 10 dewoovuevoy onueiov adriic Sk oroogiis adrdv meol
adtd xal énl tod xadérov Emnédov X XG) xard yoviav @, #ouev timovs dva-

Aéyovg tdv (2), da d¢ ta )J('(ij) Eyomev

P
X(iJ):G J)Xx(ij),
2v@® ;té{}n G(J'):;(j)—l X‘(j)+_r(j)—1 X'(25)_|_E(i)‘1 X(aj)
pé R : XY
6. "Ex tiig ovyroicemc t®v to1édowv Frenet werofd tov moonvmrer Ot ta
ugv povadiaia Sravdopara 2mi tig o xudérov e (v) #al td@v (y9) elvar moodA-

Aha, 8v@ ta dmi tig Epamtonévng nal tig B xadérov adr®v Evalldocovrar eig

noguAMAioy dmd naumidng el v Eroudvmy avriig.




